
TYP. SECONDARY
STRUCTURE BY DELEGATED
ENGINEER, SEE PLAN

PRIMARY STRUCTURE

PLAN

SECTION

TYP. SECONDARY
STRUCTURE, SEE PLAN

TYP. SECONDARY
STRUCTURE, SEE PLAN

3/8" BENT PLATE

STEEL HUB
CONNECTION @ GIRDER
TO CANOPY BY
DELEGATED ENGINEER

STEEL HUB
CONNECTION @ GIRDER
TO CANOPY BY
DELEGATED ENGINEER

SECTION VIEW

PLAN VIEW

EDGE OF
CONCRETE TIE
BEAM BELOW

1' - 0"

3"

4 1/2" 4 1/2" 4 1/2" 4 1/2"

8" 8"

3 1/2"

1/2"

1
' -

 4
"

1-1/4" GALV. STEEL BENT
PLATE, EACH SIDE.

1-1/4" (GALV.) A529 GR 50 BASE
PLATE

CONCRETE
CORE WALL
BELOW

CANOPY GIRDER, SEE
PLAN

NEOPRENE PAD
BETWEEN STEEL

ADDL (6) #5 U-
BARS BELOW
SUPPORT. @ 8"
O.C. ADJUST TO
AVOID
INTERFERENCE
WITH ANCHOR
BOLTS

L
d
 =

 2
' -

 0
"

6".

2
" 

C
L
R

.

CONNECTION DESIGN BY
DELEGATED ENGINEER.
PROVIDE SLIP CRITICAL
BOLTS. HORIZ. LONG
SLOTTED HOLES.

PTFE BEARING PADS BETWEEN
GALV. STEEL TOP & BOT
PLATES FOR SLIDE BEARING.

SLIDE BEARING CONNECTION IN BOTH
DIRECTIONS

1
' -

 0
"

HEX HEAD ASTM
F1554 GR. 105 1"
DIAMETER ANCHOR
BOLTS (GALV.) x 24"
EMBED. HAND
TIGHTEN TO ALLOW
FOR SLIDE.

1/2"

1/2" GALV. GUSSET PLATE,
EACH SIDE.

1' - 0"

30" DEEP TIEBEAM,
SEE PLAN.

3
 1

/2
"

9
"

3
 1

/2
"

GALV. STEEL BASE
PLATE

CANOPY GIRDER

2.5" DIAMETER
OVERSIZED HOLE, (TYP.)

GALV. STEEL BENT PLATE

1/2" COVER PLATE W/
TEFLON PAD.

1
' -

 3
"

ANCHOR BOLT, SEE
SECTION.

SECTION

PART PLAN

CONNECTION (ULTIMATE):
UPLIFT: 180 KIPS
DOWNWARD: 280 KIPS
SHEAR EAST/WEST:   N/A
SHEAR NORTH/SOUTH   N/A

1-1/4" GALV. STEEL BENT
PLATE, EACH SIDE.

1-1/4" (GALV.) A529 GR 50 BASE
PLATE

CONCRETE
CORE WALL
BELOW

CANOPY GIRDER, SEE
PLAN

NEOPRENE PAD
BETWEEN STEEL

ADDL (6) #5 U-
BARS BELOW
SUPPORT. @ 8"
O.C. ADJUST TO
AVOID
INTERFERENCE
WITH ANCHOR
BOLTS

L
d
 =

 2
' -

 0
"

6".

2
" 

C
L
R

.

GALV. STEEL BASE
PLATE

CANOPY GIRDER

7" 4 1/2" 4 1/2"
4 1/2"

1
0
"

CONNECTION DESIGN BY
DELEGATED ENGINEER.
PROVIDE SLIP CRITICAL
BOLTS. HORIZ. LONG
SLOTTED HOLES. (SEE
FORCE BELOW).

HARD CONNECTION

STANDARD HOLE, (TYP.)

1
' -

 0
"

GALV. STEEL BENT PLATE

HEX HEAD ASTM
F1554 GR. 105 1"
DIAMETER ANCHOR
BOLTS X 24"
EMBEDMENT. (GALV.)

1/2"

1/2" GALV. GUSSET PLATE,
EACH SIDE.

3
"

4
"

3
"

FILLER TUBE (AS REQ'D)
BY DESIGNER.

SECTION

PART PLAN

CONNECTION (ULTIMATE):
UPLIFT:   60 KIPS
DOWNWARD: 105 KIPS
SHEAR EAST/WEST:   20 KIPS
SHEAR NORTH/SOUTH   50 KIPS

1-1/4" GALV. STEEL BENT
PLATE, EACH SIDE.

1-1/4" (GALV.) A529 GR 50 BASE
PLATE

CANOPY GIRDER, SEE
PLAN

NEOPRENE PAD
BETWEEN  STEEL

ADDL (6) #5 U-
BARS BELOW
SUPPORT. @ 8"
O.C. ADJUST TO
AVOID
INTERFERENCE
WITH ANCHOR
BOLTS

L
d
 =

 2
' -

 0
"

6".

2
" 

C
L
R

.

CONNECTION DESIGN BY
DELEGATED ENGINEER.
PROVIDE SLIP CRITICAL
BOLTS. HORIZ. LONG
SLOTTED HOLES.

PTFE BEARING PADS BETWEEN
GALV. STEEL TOP & BOT
PLATES FOR SLIDE BEARING.

SLIDE BEARING CONNECTION IN BOTH
DIRECTIONS

1
' -

 0
"

HEX HEAD ASTM
F1554 GR. 105 1"
DIAMETER ANCHOR
BOLTS (GALV.). HAND
TIGHTEN TO ALLOW
FOR SLIDE.

1/2"

1/2" GALV. GUSSET PLATE,
EACH SIDE.

1' - 0"

SECTION

GALV. STEEL BASE
PLATE

CANOPY GIRDER

3 1/2"

4 1/2"

8"

8"

3 1/2"

2.5" LONG-SLOTTED
HOLE, (TYP.)

GALV. STEEL BENT PLATE

1/2" COVER PLATE W/
TEFLON PAD.

ANCHOR BOLT, SEE
SECTION.

PART PLAN

CONCRETE
CORE WALL
BELOW

CONNECTION (ULTIMATE):
UPLIFT:   20 KIPS
DOWNWARD:   70 KIPS
SHEAR EAST/WEST:   N/A
SHEAR NORTH/SOUTH   N/A

1-1/4" GALV. STEEL BENT
PLATE, EACH SIDE.

1-1/4" (GALV.) A529 GR 50 BASE
PLATE

CONCRETE
CORE WALL
BELOW

CANOPY GIRDER, SEE
PLAN

NEOPRENE PAD
BETWEEN STEEL

ADDL (6) #5 U-
BARS BELOW
SUPPORT. @ 8"
O.C. ADJUST TO
AVOID
INTERFERENCE
WITH ANCHOR
BOLTS

L
d
 =

 2
' -

 0
"

6".

2
" 

C
L
R

.

GALV. STEEL BASE
PLATE

CANOPY GIRDER

7" 4 1/2" 4 1/2"

3 1/2"

CONNECTION DESIGN BY
DELEGATED ENGINEER.
PROVIDE SLIP CRITICAL
BOLTS. HORIZ. LONG
SLOTTED HOLES.

PTFE BEARING PADS BETWEEN
STEEL TOP & BOT PLATES FOR
SLIDE BEARING.

SLIDE BEARING CONNECTION EAST/WEST
TRANSLATION

2.5" LONG-SLOTTED
HOLE, (TYP.)

1
' -

 0
"

GALV. STEEL BENT PLATE

HEX HEAD ASTM
F1554 GR. 105 1"
DIAMETER ANCHOR
BOLTS. (GALV.) HAND
TIGHTEN TO ALLOW
SLIDE.

1/2"

1/2" COVER PLATE W/
TEFLON PAD.

1/2" GALV. GUSSET PLATE,
EACH SIDE.

1
0
"

FILLER TUBE (AS REQ'D)
BY DESIGNER.

3
"

4
"

3
"

ANCHOR BOLT, SEE
SECTION.

SECTION

PART PLAN

CONNECTION (ULTIMATE):
UPLIFT:   30 KIPS
DOWNWARD:   20 KIPS
SHEAR EAST/WEST:   N/A
SHEAR NORTH/SOUTH   20 KIPS

1-1/4" GALV. STEEL BENT
PLATE, EACH SIDE.

1-1/4" (GALV.) A529 GR 50 BASE
PLATE

CONCRETE
CORE WALL
BELOW

CANOPY GIRDER, SEE
PLAN

NEOPRENE PAD
BETWEEN STEEL

ADDL (6) #5 U-
BARS BELOW
SUPPORT. @ 8"
O.C. ADJUST TO
AVOID
INTERFERENCE
WITH ANCHOR
BOLTS

L
d
 =

 2
' -

 0
"

6".

2
" 

C
L
R

.

GALV. STEEL BASE
PLATE

CANOPY GIRDER

7" 4 1/2" 4 1/2"

3 1/2"

CONNECTION DESIGN BY
DELEGATED ENGINEER.
PROVIDE SLIP CRITICAL
BOLTS. HORIZ. LONG
SLOTTED HOLES.

PTFE BEARING PADS BETWEEN
STEEL TOP & BOT PLATES FOR
SLIDE BEARING.

SLIDE BEARING CONNECTION NORTH/SOUTH
TRANSLATION

2.5" LONG-SLOTTED
HOLE, (TYP.)

1
' -

 0
"

GALV. STEEL BENT PLATE

HEX HEAD ASTM F1554
GR. 105 1" DIAMETER
ANCHOR BOLTS
(GALV.) HAND TIGHTEN
TO ALLOW SLIDE.

1/2"

1/2" COVER PLATE W/
TEFLON PAD.

1/2" GALV. GUSSET PLATE,
EACH SIDE.

1
0
"

FILLER TUBE (AS REQ'D)
BY DESIGNER.

3
"

4
"

3
"

ANCHOR BOLT, SEE
SECTION.

SECTION

PART PLAN

CONNECTION (ULTIMATE):
UPLIFT:   90 KIPS
DOWNWARD:   30 KIPS
SHEAR EAST/WEST:   10 KIPS
SHEAR NORTH/SOUTH   N/A

PLATE MEMBER, REF
PLAN FOR SIZE

1' - 1"1' - 1"

1' - 1"

4
"

8
"

4
"

NEOPRENE PAD
BETWEEN STEEL

1
' -

 4
"

(8) EMBED PLATE
HEADED STUDS
WITH 8" EMBEDMENT
INTO PT SLAB

CANOPY PLATE
MEMBER, REF PLAN

GALV. STEEL BENT PLATE

3"

PT SLAB, REF
PLAN

NEOPRENE PAD
BETWEEN STEEL

3" 4" 6" 6" 4" 3"

HEADED STUDS, REF
SECTION

2' - 2"

1' - 1"

CANOPY PLATE
MEMBER, REF PLAN

GALV. STEEL GUSSET
PLATE

GALV. STEEL GUSSET
PLATE

GALV. STEEL
GUSSET PLATE

ADDL (2) #4 U-BARS TOP
AND BOTTOM. REF SECTION

ADDL (2) #4 HAIRPIN
STIRRUPS. REF SECTION

T/LEVEL 4 SLAB

REF PLAN

CONCRETE CURB @ SLAB
EDGE, REF PLAN

CONNECTION (ULTIMATE):
UPLIFT:   5  KIPS
DOWNWARD:  45 KIPS
SHEAR EAST/WEST:  30 KIPS
SHEAR NORTH/SOUTH    2 KIPS

9
"

7 1/2"

6"X6" GUTTER, REF ARCH
FOR LOCATION AND
DETAILS

PROVIDE 1" RADIUS
ROUNDED FILLET TYP @
CORNERS

PRIMARY
STRUCTURE,

REF PLAN

PRIMARY STRUCTURE
GIRDER TUBE, REF PLAN

NOTE: CLADDING
TOP&BOTTOM NOT SHOWN
FOR CLARITY, REF ARCH

OPENING IN STRUCTURE
FOR GUTTER

R
E

F
 A

R
C

H

2

4890 W. Kennedy Blvd.
Suite 250
Tampa, Florida 33609

© Copyright 2017

Phone: 813-637-0110
Fax: 813-637-0013

TLC NO:

E N G I N E E R I N G
F O R  A R C H I T E C T U R E

COA 15

TLC Engineering for Architecture, Inc.

www.tlc-engineers.com

REVISIONS:NO:

DRAWN BY:

COSP DWG #:

CHECKED BY:

ISSUE DATE:DATE:

THE NEW ST PETERSBURG PIER
CITY OF ST PETERSBURG

CITY PROJECT NO. 09227-019 APPROVED BY:

100% CONSTRUCTION DOCUMENTS

11063-

714128

05.19.2017

TO THE BEST OF THE STRUCTURAL ENGINEER'S
KNOWLEDGE, THE PLANS AND SPECIFICATIONS
COMPLY WITH THE APPLICABLE MINIMUM CODES AS
DETERMINED BY LOCAL AUTHORITY IN ACCORDANCE
WITH CHAPTER 553, FLORIDA STATUES.

S7.31

CheckerAuthor

PIERHEAD - CANOPY DETAILS

 3/4" = 1'-0"
1

TYP. CANTILEVER INTERMEDIATE BRACE CONNECTION

 3/4" = 1'-0"
2

TYP. CANTILEVER TO GIRDER CONNECTION

 3/4" = 1'-0"
5

CANOPY CONNECTION @ GRIDLINE PD-P10 AND PD-P4

 3/4" = 1'-0"
4

CANOPY CONNECTION @ GRIDLINE PD-P11

 3/4" = 1'-0"
7

CANOPY CONNECTION @ GRIDLINE P10 NEAR PJ

 3/4" = 1'-0"
6

CANOPY CONNECTION @ GRIDLINE P11 NEAR PJ

 3/4" = 1'-0"
8

CANOPY CONNECTION @ GRIDLINE PD-P2

 3/4" = 1'-0"
3

DINING SLAB CONNECTION

NOTE:  PLACEMENT OF ANCHOR RODS IS OF CRITICAL IMPORTANCE TO THE
CONSTRUCTABILITY OF THE CANOPY STRUCTURE.  CONCRETE CONTRACTOR TO
USE A 1/8" STEEL PLATE TEMPLATE TO SET THE ANCHOR BOLTS.  SURVEY TEMPLATE
PRIOR TO CASTING.

NOTE:  PLACEMENT OF ANCHOR RODS IS OF CRITICAL IMPORTANCE TO THE
CONSTRUCTABILITY OF THE CANOPY STRUCTURE.  CONCRETE CONTRACTOR TO
USE A 1/8" STEEL PLATE TEMPLATE TO SET THE ANCHOR BOLTS.  SURVEY TEMPLATE
PRIOR TO CASTING.

NOTE:  PLACEMENT OF ANCHOR RODS IS OF CRITICAL IMPORTANCE TO THE
CONSTRUCTABILITY OF THE CANOPY STRUCTURE.  CONCRETE CONTRACTOR TO
USE A 1/8" STEEL PLATE TEMPLATE TO SET THE ANCHOR BOLTS.  SURVEY TEMPLATE
PRIOR TO CASTING.

NOTE:  PLACEMENT OF ANCHOR RODS IS OF CRITICAL IMPORTANCE TO THE
CONSTRUCTABILITY OF THE CANOPY STRUCTURE.  CONCRETE CONTRACTOR TO
USE A 1/8" STEEL PLATE TEMPLATE TO SET THE ANCHOR BOLTS.  SURVEY TEMPLATE
PRIOR TO CASTING.

NOTE:  PLACEMENT OF ANCHOR RODS IS OF CRITICAL IMPORTANCE TO THE
CONSTRUCTABILITY OF THE CANOPY STRUCTURE.  CONCRETE CONTRACTOR TO
USE A 1/8" STEEL PLATE TEMPLATE TO SET THE ANCHOR BOLTS.  SURVEY TEMPLATE
PRIOR TO CASTING.

 3/4" = 1'-0"
9

CANOPY GUTTER FRAMING

1

1 ADDENDUM #1 06/29/2017

2 ASI-03 – RFI 70 Canopy PCE 03/28/2018

2

2

2 2 2 2 2

2

2

2

2

2

2

2

2

2

2

2

22

2

2

2

2

2 2
2 2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2


